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. min. max. mi z
S1246L|155 130|100 | 80| 65| MB5X20 46 36 | 64| 85|515(1195/115|200| 27 | -6 |57 |25 | B |115|1475
S1552L(190 (170 130 | 85 | 70| Me0x20 52 36 | 73| 96|575(1395/130|208 |29 | -6 | B9 |26 | B |12 |153
S1875L|215|190 | 160|120 | 95| M85x20 75 36 | 98121 |705(168 |160 |241 |35 | -6 |65 |25 | 5 |175|1695
S2091L(240 (215|180 | 140 | 110 | M100x2.0 91 34 |108 |138 |79 [1835/185|268 |45 | -6 | 756 |25 | 5 |21 |188

S1246L| 30 |MEX 9 MWOXEO 156 | 98| 76 | 47 | 15 | B0 | 76 | 4 |M5x10| 6 |Rcl/e| 12 | 200 | 67 |Ms2x15| 50 | 33
S1552L| 30 |MBX 9 |MI0x20 (162 | 110 | 86 | 47 | 15 | 55 | 85| 4 |Mexl12| 7 |Rcl/e| 12 | 220 | 68 |MB8X15| 56 | 33
S1875L| 35 |MBx 9 |M10x20|1825| 155 | 101 | 47 | 16 | 80 | 108 | 4 |Mex12| 7 |Rcl/e| 12 |242 | 74 |M84x20| 81 | 33
S2091L| 35 |MEx14 |Mi2x24|203 | 165 |110 | 47 | 15 | 95 | 120 | 4 |M6x12| 7 |Rcl/e| 12 | 267 | 86 |MI9Ix20| 96 | 38
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mm cm2 com kN (kef) KN(kef) a(kef/on) kg-m* L
S1246L 32 100 89 | 380 (3875) | 33.0 (3365) | 4.0 (40.8) 7000 0.022 12.8 3.0
S1552L 34 161 150 | 600 (6118) |56.0 (65710) | 4.0 (40.8) 6200 0.058 17.0 39
S1875L 40 198 183 | 740 (7546) | 89.0 (7036) | 4.0 (40.8) 4700 0.100 26.8 4.2
S2091L 50 252 234 |94.0 (9585) | 88.0 (8973) | 4.0 (40.8) 3800 0.160 34.1 45






